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goboooooooooobooobooooobooobooooooooooboobboOoon
goo0obobooobooboooooboooo
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FILE, fopen, fclose, fscanf, fprintll 00D 00O 000 EOFR,OOCOOODOO "rr"w”"a”, OO0
000000000000000000 typedef

yoo

0000000000000 giftsda’'0 000000000000 0OOOOOOOOOOOO
O000DOoOoO00ooOooO0ooooow oDooOooooboooo

<gifts.dat>

JZK-30 Jizaketsumeawase 4500
BSP-15 Body soap set 3000
BT-200 Bath towel set 2500
TEA-20 Koutya tsumeawase 5000
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D000 giftsdatC 000 0000000000000 O0OO0O0O0O0O0O0O0O0O00.0000
O00,fscanf0000D00OODOO %sO000 %WdOOOOOOOOOOODODODDODD.
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Hello worldm
When | woke up this morning, | found many people in my room.
What's ug1] : -0
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name: Jizakeésumeawase
price: 4500

code: BSP-15

name: Body soap set
price: 3000
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>concept

gbooooobobobboboboboooboobobobboboooobobobobon
gobobooboobooooboobooooboon

lecture keywords

0000000000000000000000000000,000000000000 (),
00000000000 (%)
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gbooobooobooboobOoobooboooooooobooobooooooboooboboooon
ooo0obooooboboooobobooobooboooooboboooon

#include <stdio.h>

main()

{
int a, *p; //(0) D00O0OO00 aO00O0O00O0O0O0OO0pOO0O0OOOONO
a = 10;
printf("a: %d\n", a);
printf("&a: %p\n\n", &a);
p = &a;
printf("p: %p\n", p);
printf("*p: %d\n", *p);
printf("&p: %p\n\n", &p);
a = 20;
printf("a: %d\n", a);
printf("&a: %p\n\n", &a);
printf("p: %p\n", p);
printf("*p: %d\n", *p);
printf("&p: %p\n", &p);

}
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gbooobooobooboobOoobooboooooooobooobooooooboooboboooon
gobooboobooobooboooooboboooobobobooobooobon

#include <stdio.h>

mainQ)

{
char c, *p;
char s[12] = "Ritsumeikan";
c="A";
p = &c;
printf("c: %c\n", c);
printf("&c: %p\n\n", &c);
printf("p: %p\n", p);
printf("*p: %c\n\n", *p);
*p = 'B’;
printf("c: %c\n", c);
printf("&c: %p\n\n", &c);
printf("p: %p\n", p);
printf("*p: %c\n\n", *p);
printf("s: %s\n", s);
printf("s[0]: %c\n", s[0]);
printf("s[1]: %c\n", s[1]);
printf("s: %p\n", s);
printf("&s[0]: %p\n", &s[0]);
printf("*s: %c\n", *s);
printf("*(s+1): %c\n\n", *(s+1));
*(s+2) = 'T’;
printf("s: %s\n", s);

}
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#include <stdio.h>

int main( void ) {
char *pl, *p2;
p2 =“ Winter” ; pl = p2;
while ( *pl !'= ’\0’ ) {

; (/0000000000

while ( ) { // 0000000

putchar( *pl ); //000000000000000000
}
putchar( ’\n’ );

return 0;
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We have seen other things matter.
But, that is the thing that matters.

"D

We have seen-e+er ++ings matter.
But, ++at is++e ++ing ++at matters.
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lecture keywords

0000000000 0dstrlen, strepy, streat, stremgstring.h, OO0 OO0 0000000000
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U0 x,yooooooooooooobooooooooooboooooooooooooo
oood

#include <stdio.h>

void swap(int x, int y);

int main(){

swap(x,y);
printf("x=%d, y=%d\n",x,y);
}

void swap(int x, int y){
int temp = Xx;
X =vy;

y = temp;

gbobobobobobooboboboboboboooooooboboboboboboaon
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typedef struct word_pair{
char longer_word[10]; //0000000
char shorter_word[10]; /0000000
char combined_word[21]; //0000000
int longer_word_length; //0000000000O0
int shorter_word_length; /0000000000
} word_pair_t;

0o0o0o0o0oO0oO0oOoO0OO0O0O,00000000DO0OoOOo
word_pair_t createword_pair(char *a, char *b);
O0000DOcreatewordpair 000 00ODOOOOO.
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shorterword O 0 OO0 00000000000 OODODOOOOOOOOOODOO longerword
0000000 shorterword DO DO OODOO0O0Oald bODODODODODDOODDOOODODOOOOO
0000000000000 longerwordO0 000000000 Oshorterword0 00000 (OO
O00000O0ooono)oooooooddcombinedwordd O longerwordO shorterword O O
0000000000000 0000000000O0O0000DOO0O0000 longerword length,
shorterword lengthOD 0 0 0 O O

0000000000000 0D0O0OOcreatewordpair0 00000000000 OOOOOO
goobooobooooboooodbboooboooboboobooobooobbooobba
ooon

0000000000 stinghO 00000000000 OOOOO0ODOOO.
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Push C Pop

010000

Push (data) : datall push-dowrd DO COOO0O0O0OO00OOCOO0O0DOOMOM

Pop: datad pop-up0 00 (0 0000000000000 0ODO0)
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0000000000000 00000000o0o0o0o o000 0U0ooooOUoUon
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000000000000000000000000000
void print.stackary(char* s, int top);

000000000000000000 charD 000000000000 OOOQ.
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10000 sIMAX]OOD top0 00000000 DOOO0OODOOOOOOODOOOOOOO
0000000000 push-dowrd 00O 0O
void push(char c, char* s, int* top);
000000000000 0000ood push-dowrl 0000 O,0000000 printstackary
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(00D0)topOD0O0 pushD 00O 100000000.
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void print.queueary(char* g, int top, int rear)
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00000 datal 0000000

struct data{
char key;

struct data *next;
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(0ooog)

printf("%c\n", top->key);
printf("%c\n", top->next->key);
printf("%c\n", top->next->next->key);
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};
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O void insert(int val, int a[], int N);
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gooobooboobobooboobooboobobobooboo

lecture keywords
[DDDDDDDDDDDDDDDDDDDDDD ]

00000 OOO0O00oOoOoOoOoOoOoOOOd structnodel OOOOOOOOOO

struct node {
int key;
struct node *parent, *left, *right;

1

printtree)0D 0000 Oprinttree.c0 00000000000 O0O0ODODOOOO,0000000
OO0 manO 00000 printtree0 00 00000000O0OCOCOODOOOOOOOOOOOO
O0O00O0O00printtree.cO, 0000000 : httpy/www.em.ci.ritsumei.ac.jprog20 O O OO0 O.

gogoobobboogoa
prog.cO funccOOOOO0OOO0OOOOOOOO.
gcc-cprog.dd 00000 progo00OOOO.OOO
gec-cfunc.d 0DO0O0O0O funcoOOODODODO.
gogoobobboooooooboo
gccprog.ofunc.o-oprog D O00OOO0OOO prog00O0OO0OOOOOO.

o000 121

0000000000000 plb40 6100000 2000000000000000000
00000000000 newnode)U OO O000000000O0O0OOOOOOOOOOOOOO
00d0O0oooooDooooooo0ooboooDooooooooOooo 200000000
0000000000000000 630 000000000000 printtree)D000O0O0O0ODO
00000 newnode() OO printtree)UOO000D0OOOOCOOOO

28



struct node *newnode(int key)
/‘ ( V) \

ooo: OO0 nodeD D0O0DDD0ODO0OO0O00OO0OO0OO0OOOOUODODODDDODOOOOO
OO0ONULLOOOOOO.
000 key: oooo(@o)
oo0oo: 0000000 nodeD OO OOO0OOOOO
J
void print.tree(struct node *node}
. p ( v ™
ooo: OO nodeD 00000 2000000000000 0O0DOO0O
O00oo0o0ooooooooooooooooooooooooooooon
000 key: 0000200000040
oo0oo: oo
J

(Doooooog)

#include <stdio.h>
#include <stdlib.h>

struct node {
int key;
struct node *parent, *left, *right;
1
struct node *new_node(int key)
{
struct node *p;

/¥ O00O00oOoobooooooo =/

return p; //000 p 0O OOOO0OOOOOOOO struct node ODOOOO0O

main()

{

struct node *root, *n[10];

n[0] = new_node(4);

/0000000000000 */

n[5] = new_node(18);
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/¥ 0000000000000 */
root = n[5];
n[0]->left = new_node(0);
n[0]->right = n[1];
n[0]->parent = n[2];

/¥ 0000000000000 */
n[5]->left = n[2];
n[5]->right = n[7];
n[5]->parent = NULL;

/* 0000000000000 */

print_tree(root);

}
goo:
0
31
0
25
0
22
0
21
0
18
0
15
0
12
0
9
0
7
0
4
0
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gooooboooooobd

oboooobooboooooboooobooboooooo

> concept

lecture keywords
[insert, member] O ]

o000 131

gooooooooooooo0o00oooooogooOo 20000000 o0gogoooo
0000000000000 00000000000 inset)UO000QCQOOOOOOODOOOO
goboooobooooOoobooobobOoooboooooooooooooooboooooboooooa
goboobooboobooboooooboboooobobobooboobooooobooboooo
OO0 insert()D0000O0O0O0O0OOO0O

~ int insert(int key, struct node *root

\

goo: 200000000000000O0O0O keyOOOOOO

000 key: ugbogbogooaood

0ono root: 20000000000000

googd: OO0 keyDDODOODOOOOO 1I0DOOOOOODOOOOOOOOOOODODO

Oogoooooonooo

N J
ooo:

gbooooboooobogn: 18
0
18

gbooooooboooogon: 9
0
18
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g @o)

gobgooooobooboob: 25
0
31

25

22

21

18

15

12

0
gobgoobooooboooobgob: -1

ooooooo 13-2

00 12-10000000QoQoooooooooooOoOoOOOOOOOOO 20000000
000000000000 0O0O000000000000000 membetrecursive()d ODOO00O0O
gobOobobooobooboooooboooooboobooooobooobooono

gbOvOOrootOOODOOOOODOOOOO

Stepl.vOOOOOOD OO xOOOOOOO"0O0O00O00O0OOOO
Step2.0v000000Okey(v)=xO00O0" O0xOOO0OO0OO0OOOODO"ODOOOOOOOOO

Step3.0key(V)#xOO0OO0OO key(v)>xO00O v« left(v)O
00 key(v)>x 000 v « right(v).
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Step30000000000COO0ODOOODO

00 memberrecursive(D 0000000 O000OO0O

e struct node *memberecursive(int key, struct node *node)

goo:
000 key:
0 oo root:

ooog:

N

2000000000000DOODO00DObD
ooooboooooao
20000000000000

OO0 keyOOOOOOOODOODDODOOOODODOOOOOOOOOO NULLO
oo

J

goo 1o

gogbgobooooboobooboobbe
o0 1 0000o0o

goo 20

gbooooboobooooboobos:
o0 31 00000000

OoooooDoDo 13-3

0012100000 20000000000000000DODOO0ODOODOOODOODOOOO
000000000000000000000000000 delete)D 00000000 OOOO
gooobooobooboooobooobooooooobooobooobooobooobooooo
ooooboooooano

OO0 deleteQOOOO0OOOOOOOOO

int delete(int key, struct node *root
. ( Y 7 ™~
ooo: 2000000000 keyO OODOOOOOOOOOOO
000 key: Ooo0ooooooooono
000 root: 20000000000000
oo0o0oo: OO keyDOOOOOOODO 1I0D0OO0O0OOOOOODOOOOOOOOOOOO
oggdoonoono
N J
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ggo:

oboooooobooooon:

0
31
0
25
0
22
0
21
0
18
0
15
0
9
0
7
0
4
0
gobooooooobooonD:
0
31
0
25
0
22
0
21
0
18
0
15
0
9
0
7
0

oboooooobooooon:

12
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gooooboooooobd

> concept

gboboooooboooooboboooooboboboobooboooooono

lecture keywords
[DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD ]

o000 141

O0xO000yOOODOOO xmody)DOOOOO0ODO0ODOO0OO0ODODO0ODOOOOO0OOOOOOO
gdobobooobooboobobooobooboooooooooboobooboooboooooa
00000000 y=50000000 p.1790 6480 000000000D000000O00O00OO
0000000000000 00000D0000 structnode *table5pP 000000000000
00000000000O000O0O0 printhashQDOOOOOOOOOOOOOOOOOOOOO
og.
ooogoo

struct node{
int key;
struct node *next;

}

ooooboooooao

o000 14-2

gboooobobooooobobo boxobooooboooooboao

O struct node *member(struct node **table, int key)
gbodooooobooooooooooobooboooooon

Ooooooo 14-3

00 14-100000000000000000000000C00OO0 insert)OCOO00OO
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oboooogoD 144

00 1410000000000 000C0CO0OO0ODODOODODO0O0O0 delete)uuoood

oboooogo 14-5

00000000000O00o0d0o0oOoU0o0O0DoDO0OUOoO0oOoOoDUoOOoUOooooo
000000 member(), insert(),delete) 0 0000000000000 OOOOOOOO
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goooobbod

> concept

gboooobooooobOobooooboboooboOobooooobooooooboooo

lecture keywords
[D gd ]

gboboooboooooobooboboboobooooboooboboboboobOooboon
gboboboobobobobOooooboboboboobobooboobobooboooooon
oboooooobooboooboobooooobobooboobooboobobooobooobon

gooDbooO 151

gboboooooboooooboboooooboboboobooboooooono

ooooooo 15-2

gboooobooboooooboooobobooooboobooobooboon

gooooog 15-3

gbobooobooboobooooboooobooobooobooooboooooooboooooon
gbobooooooooooboooobooboooboobooboooboOobooon
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